B35 UNE RFEHREE CGokx)

NARE
ARTTVALN f(x) = Asin(wx + @) XA B I R 555 @b DL EI VAN SR F O3V,

1. B X IR WAERA, soRME AR RE S ME RO X TR], 5/ IMEL AR RB B R AH AL 1 X TH].

2oy IR AE S X ) BRI, Uz X Ta) AN e~ i 3.
2. BRBUEMSE: —DREAN Gelslroy—1P R, WERA—E/RAL), A R R EUE S

kAT

]
15

, JEATH

[EJ XSRS A 1 R EAIANE A, B P RACREUEARSE, WA R yX RSl X anE BN B, C

P RAL PREUVE RS, PRI R 4, C ZIEEEF — R, eATTH B R AN 2 % A

3. RBUEM: RN (AEEEE A D Bilq— B X e B, A O R EUE A b, T

EATH R XA G, G 2 TR D, E T

E bk

AN EEAN (WAER—BEA X A B, sREEM R, BT

PLEATH R F X R Gs G A H ZIBME S 9= 3 (ANER— BRI R B, BRI AR

FRA ).

4. BREHIBER: &)< f(x,), W FO)Ex=x, CBEmKNE: % F(x)= f(x,), W fFx)f

Sc/ME: 5 f(x) <] f(x,)

-------------------- — e e

L £ TE x = x AR EAE Al B/ MERITT) |

JL 7Y 5] 7

EX=X, b HY

[ 1] #588 éﬁf(x)_sm(a)ﬁ )E[”,Z”]L_ﬁéi@, Ef(—%):f(%), ) TE o BI{E N

A

7 T b, ﬁmﬂ 2T T Wi T=E s r, #0<w<2 @,
6 3 3 6 2 0,

RN f (0 1E

Tzﬁ%n_gﬂgm —ANEPN, ¥ f<_§): f(%), ﬁﬁuwm@mmx:_%ﬂ%mﬁm,
Fih—" o+ " —kr+ T, Wi @=1-12k(k € Z),
12 12 2

AEaOA1F kA0, Mo=1.

i,




(%1 2] CHIEREL £ (x) =2sin(wx + @)@ > 0) B3 7 B R anE P, Ef(%)+f(?—72r):0, ﬂﬂ.f(%): C )

(A) Q (B) ﬁ (C) 2 (D) 3

2 2

A

g R A B b, X+ =0, B CE,0)RERH AR,
4 12 4’712 12

WiZE_Z_L wr=r, Fitlo=2%-2,
12 6 4 T

Rf(%)zzsin(zx%w):z, ﬁﬁusin(§+¢):1, U\ﬁﬁ§+¢9:2k7z+§, ﬁﬁ¢:2kﬁ+%(keZ),

FTEA £(x) :ZSin(2x+2k71'+%) _ ZSin(2x+%), ﬁﬂzf(%) _ ZSin(Zx%Jr%) :2sin§ _ /3.

2ZzZ. D

(= Iy (S

(5] 3 JBEEREL £ (x) = sin(wx + @)@ > 0,]g] < g) WAL £(0) = % : f(%) 4 f(%) —0, H f(x)1E (%,%) iR,

B = 7 25 e :l * B _E % :z =S i .
e HEE, f(0)=sing 5 R‘qokZ, JIt LA 2<go<2; L7 c’ f(x) Sm(a)x+6)

Sy f(%):sin(§w+%):0, ﬁﬁu%w+%=k;z-, Eﬁw:4k—§(kel),




Bt W H Hr=Z, apzizg, FTLL 0<6,
()

Yao>0, FLlo<wo<6, Mifik HASH 1, ﬁﬁzw:%

wz, 10
3
VAN
\ /3
ALK

1. (k) E%ﬂf(x)=sin(%x+gp)(0<¢)<7r), %f(%):f(g), N ¢ =

2. (2022 « PY)IZRPBHAETL « k) 2 f(x) =sin(wx + @)@ > 0) FIERE HZ y = m I =P AHLEAC U] AR

27T

” T T
*ﬂ:%%ux% - g ’

) I)_UJQ):
6

3. (2023 « ‘ZHEAU « Skk) CEIEREL £(x) =sin(ox+ o) o NIEEE, 0< @< ) EX][H (%,E)J:Eiiﬁ :

3

H f(z) = £( 2”), Me= C

MWE ®mE wZ2 o
6 4 3 3



4. (kkkk) ‘Tﬁ@liﬁf(x)=2$in(a)x+qo)(a)>0,‘qo‘<§)?E[%,,%]J:Eii@i%%ﬂzs f(§)=f(2?ﬁ)=—f(%)’

AR AL () BIR & BB AR AR O R R Y 2 1515 2 R o () TR, N g(x) =




